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General Instruction:-

1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections — A, B, C and D.

3. Section A contains 4 questions of 1 mark each. Section B contains 6 questions of 2 marks each. Section
C contains 10 questions of 3 marks each and Section D contains 11 questions of 4 marks each.

4. Use of Calculator is prohibited.

5. An additional 15 minutes has been allotted to read the question paper. During this period students will
read the question paper only and will not write any answer on the answer book.
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SECTION A

s

1. Write a rational number between § and 1

= 3R 2 & 97 T aRAT FEr o |

2. Evaluate 9% + (-6)° + (-3)°
93 + (-6)° + (-3)° &I AT FATU!

3.Ina AABC, AB = AC, ~BAC = 80°, then find ZABC.
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foely T%[sT ABC #, AB=AC @aT «BAC=80"& I £ABC I HIY FTC !

4. What will be the general form of co-ordinates of any point on the y-axis?

y-318T R & fonell g & fAgmael &1 araea &9 a1 gem ?

SECTION B
s q

5. Express 32 in the decimal form and state the kind of decimal expansion.

BEﬁanﬂaéswﬁWaﬁﬁT%’qmdﬁsaw ZAHAT ¥9 frg TR &7 § ?

6. Evaluate the product without multiplying directly.

ICGI Irom IE) U I[UTIthe U -

104 x 96

7. In the given figure, if AB =BC and BX = BY show that AX =CY.

few s ™ & 39R AB=BC 3ik BX =BY ar &2& f& AX =CY.

8. In the given figure, AD is the perpendicular bisector of side BC of AABC. Show that

AABD — AACD

A QU arv T A, AD AABCHI $STT BC &l ofFadd e asioleh @ ¢ | g 76 AABD

— AACD

B D C

9. On which axes do the given points lie?

few a1v foig fohet 3787 R f&ud 87

https://www.evidyarthi.in/



(0, 4), (-2, 0), (3, 0) and (0, -1)
10. Find the area of triangle of sides 12 cm, 16¢cm, and 20 cm.
30 efsT &1 alathel fashrel , TS ofsiv 12 4.0, 16 QA 3R 2044 § !
SECTION C
s |

11. Find the values of a and b if :;:: =a+byV2.

a 3R b AT WFrer IR EHZ a4+ b2 BT

6+&T

12. Represent 5 on the number line. Write the steps of construction.

V5 &I FE&IT 3@ X d &Y | dadrae & offe gt & ford |
13. Write (x + 2y — 3z)? in expanded form.

(X +2y—32)° @l o &7 & fog |

14. If 2x + 3y = 12 and xy = 6 find the value of 8x® + 27y*

afe 2x+3y =123 xy=68" ar 8x’+ 27y’ #AlA ferer |

15. In the figure , AB||CD, L APQ =50° and L PRD = 125° find y — x.

fgw arv a7 # | AB||CD, LAPQ =50° 31X L PRD =125°gT @l y - x &l HIeT feiehrel !

16. In AABC, LB =35°, L C =65° and bisector of L_ A meets BC at point D. Find LADB and LADC.

AABC # LB =35", LC=65" 3 HIT AH FHACAssi® 3@ BC A D fog w Aercd & !
L ADB 3R LADC & &l faehrel !
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350
¢ D — B

17. In the figure, if 1||m, L1= (x + 30%) and L2 = (2x + 15°) .Find L.3 and L 4.

T 7 afg | 3R m AR L1= (x +30%) 3R L2=(2x+15°) g af L3 3R L4 &1 &
IGEICHS

\

18. In the given figure, LB < LA and L C < L. D. Show that AD < BC.

RUITRTH LB, LA BT § 31K LC, LD ¥ ©ler g, 2 & AD, BC & @ler ¢!

A C

19. Plot the points A(-3,2), B(-5,-4), C(-2,-4) and D(0,2). What figures do you get on joining the points in
order.

fSegal A(-3,2), B(-5,-), C(-2,-4) T D(0,2) & I;MH YR W M | o1 ool & %A &
e © @l a1 3mpfd Rerdh § 2.

20. In the four sided field, the length of longer diagonal is 128m. The lengths of perpendiculars from the
opposite vertices upon this diagonal are 22.7 m and 17.3 m. find the area of the field.
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T ISR W & ol &1 orar$ 128 #1. B | faspol & qeg@ oY @ faspol W s
T oS T FFaEAT 22.7 AL AR 17.3 H. § | I FT &b ATl |

SECTION D
s g

- T B+ ¢
21 If x =Z="Zand y = 2= find x* + xy + y°.
A5+ 42 W5—A2

IR x =22 3R y=S2C@ ar X%+ xy + Y2 & AR @ |

WE5+42 JE-T

22. Prove that (F1fad &Y foR):-

23. Factorise (J[0TES &Y ):

2 — 0% + X + 12

24. If x +y + z = 0 show that x° + y* + z° = 3xyz
g x+y+z=0ar gAF & 3 +y3 + 22 =3xyz

25. If the polynomials ax® + 4x? + 3x — 4 and x® — 4x + a leave the same remainder when divided by (x-3),
find the value of a.

3R SgTal ax + 4 + 3x — 4 3 x° —dx + a T (x-3) F eI fohar S A @A QW ARy
9T gidl & df a &7 #A faerer |

26.Ifa+b+c=15and a® + b? + ¢ = 83, find the value of a° + b® + ¢* -3abc

3PN a+b+c=153 a?+b*+c®>=83 g ar a°+ b’ +c3-3abc &1 AT 4T !
27. Prove that the sum of three angles of a triangle is two right angles..

arfed & o el Beger & it Fow & AT & FHIOT F SIS gl § !
28. In the given figure, AC = AE, AB = AD and LBAD = LEAC. Show that BC = DE.
feu atw 3 A, AC=AE,AB=AD 3R LBAD=LEAC#E dl g2¥ f& BC=DE
29. ABC is a right angled triangle in which LA = 90° and AB = AC. Find LB and LC.

ABC Ueh HHIUT T387oT &, TIEehT &I0T A FHHIOT § 3R AB = AC § o 0T B T HI0T C
T AT Aeprel |

30. BE and CF are two equal attitudes of a triangle ABC. Using RHS congruence rule, Prove that triangle
ABC is isosceles.
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ﬁ@ABCﬁWBEWCFW%!WW@WWWWW?
ared X 5 ABC T HHGaeTg ST & !

31. Anwar Ali has a farm in the shape of a square ABCD. Its diagonals AC and BD intersect at O. Show
that A AOB = ABOC = ACOD = ADOA. He makes a will in which he gives two triangular parts to his

son and daughter and other two parts for opening a dispensary and a library. Which values are shown by
decision of Anwar Ali in making provisions for library and dispensary.

3eaX 3 & U ABCD @31 & 3T T Tsh W ¢ | $H fahol AC 3R BD Ush gl &l
O fog X e & ! & fF - AAOB = ABOC = ACOD = ADOA & ! 98 3/9ell a@fiad # ar
FBISTAR #1319 SfieT 3R o< T &1 I & 3R AW 2l AR a7 & 3qarer 3R
qEARITT TielalT dEcT § | JEhIerd 3 3ETdlel T AT geel i & 3efax 7ol bt
e T JeRd HT 872
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